

Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

On Matrix Polynomials $L_n^{(M,\delta,\lambda)}(x)$

Vinod Kumar Jatava, A. K. Shuklaa

^aDepartment of Mathematics and Humanities, Sardar Vallabhbhai National Institute of Technology, Surat-395 007, Gujarat, India

Abstract. The aim of this paper is to introduce matrix polynomials $L_n^{(M,\delta,\lambda)}(x)$ and establish some properties viz, hypergeometric representation, generating matrix relations, integral representations, recurrence relations, summation formulas, series relation, fractional integral and derivative operators.

1. Introduction and preliminaries

The matrix theory plays a pivotal role in every area of mathematics, specifically in orthogonal polynomials and the theory of special functions. The special matrix functions appear in the study of statistics, group representation theory, number theory, Lie theory and in the matrix version of Bessel, Laguerre, Hermite, Gegenbauer, Chebyshev matrix polynomials and Lommel matrix polynomials (see [7–9, 14, 17, 23]). The matrix analogue of the various special functions were studied by many mathematician Bakhet [1], Dwivedi and Sahai [5], Jódar and Cortés [6, 10, 11], Shehata [2, 18–21] and others. They studied orthogonality, differential and integral representations, finite summation formulas and generating functions of unique matrix functions and polynomials. These matrix functions and polynomials play a significant part in resolving a wide range of statistical, probabilistic, engineering, and mathematical science issues.

Let $\mathbf{C}^{r\times r}$ be the complex space of all \mathbf{r} - square complex matrices. For $M \in \mathbf{C}^{r\times r}$, its spectrum $\sigma(M)$ denotes the set of all eigenvalues of M and $\alpha(M) = \max[\Re(\rho): \rho \in \sigma(M)]$, $\beta(M) = \min[\Re(\rho): \rho \in \sigma(M)]$. Any square matrix $M \in \mathbf{C}^{r\times r}$ is a positive stable, if $\Re(\rho) > 0$ for all $\rho \in \sigma(M)$. A matrix norm is a vector norm on $\mathbf{C}^{r\times r}$. That is, if ||M|| denotes the norm of the matrix M, then the operator norm corresponding to the 2-norm for vectors is

$$||M|| = \sup_{x \neq 0} \frac{||Mx||_2}{||x||_2} = \max\{\sqrt{\lambda} : \lambda \in \sigma(M^*M)\},$$

where for any vector x in r^{th} complex plane, $||x||_2 = (x^*x)^{1/2}$ is the Euclidean norm of x and M^* denotes the transposed conjugate of M. The identity matrix in $\mathbf{C}^{r\times r}$ is symbolized by I. If f(z) and g(z) are holomorphic functions of the complex variable z and defined in an open set Ω in complex plane, then from the properties of the matrix functional calculus [3], it follows f(M)g(N) = g(N)f(M), where M, N are commuting matrices in $\mathbf{C}^{r\times r}$. The reciprocal gamma function denoted by $\Gamma^{-1}(z) = \frac{1}{\Gamma(z)}$ is an entire function of the complex variable

Received: 01 September 2021; Revised: 25 August 2022; Accepted: 08 September 2022

Communicated by Dragan S. Djordjević

Email addresses: kumar17vinod@gmail.com (Vinod Kumar Jatav), ajayshukla2@rediffmail.com (A. K. Shukla)

²⁰²⁰ Mathematics Subject Classification. Primary 33C20, 15A15, 33C45; Secondary 26A33, 33E20

Keywords. Matrix polynomial, Generating matrix function, Generalized hypergeometric matrix function, Fractional integral and derivative

z.

For $M \in \mathbb{C}^{r \times r}$, image of $\Gamma^{-1}(z)$ acting on M and denoted by $\Gamma^{-1}(M)$ which is a well defined matrix.

If $M \in \mathbb{C}^{r \times r}$ and M + nI is invertible matrix for all $n \in \mathbb{Z}^+ \cup \{0\}$, then the matrix version of the pochhammer symbol $(M)_n$ is defined $(J \circ dar \text{ and } \mathbb{C} \text{ort} \circ s)$ as,

$$(M)_n = \Gamma(M+nI)\Gamma^{-1}(M) = \begin{cases} M(M+I)(M+2I)...(M+(n-1)I) & (n \in \mathbf{N}) \\ I & (n = 0). \end{cases}$$
 (1)

For any matrix $M \in \mathbb{C}^{r \times r}$, one gets the relation due to Jódar and Cortés [10],

$$(1-y)^{-M} = \sum_{n>0} \frac{(M)_n}{n!} y^n, \quad |y| < 1.$$
 (2)

If M and N are commuting matrices in $\mathbb{C}^{r \times r}$ and for $n \in \mathbb{Z}^+ \cup \{0\}$, M + nI, N + nI, M + N + nI are invertible, then (Jódar and Cortés [10]),

$$B(M,N) = \Gamma(M)\Gamma(N)\Gamma^{-1}(M+N). \tag{3}$$

Jódar and Cortés [11] defined the Beta matrix function as,

$$B(M,N) = \int_0^1 x^{M-I} (1-x)^{N-I} dx,$$
(4)

where M, N are positive stable matrices in $\mathbf{C}^{\mathbf{r} \times \mathbf{r}}$.

Jódar and Cortés [11] defined the Gamma matrix function as,

$$\Gamma(M) = \int_0^\infty e^{-x} x^{M-I} dx, \quad x^{M-I} = \exp((M-I)\ln x),$$
 (5)

where M is a positive stable matrix in $\mathbf{C}^{\mathbf{r} \times \mathbf{r}}$.

The contour integral representation for the reciprocal Gamma function (see Lebedev [13]):

$$\frac{1}{\Gamma(z)} = \frac{1}{2\pi i} \int_{\mathcal{C}} e^t t^{-z} dt,\tag{6}$$

where *C* is the path around the origin in the positive direction, beginning at and returning to positive infinity with respect for the branch cut along the positive real axis.

Lemma 1.1. (See Rainville [15]) Let A(p, n) and B(p, n) be matrices in $\mathbb{C}^{r \times r}$. Then the following series relations are satisfied:

$$\sum_{n=0}^{\infty} \sum_{p=0}^{\infty} A(p,n) = \sum_{n=0}^{\infty} \sum_{p=0}^{n} A(p,n-p)$$
$$\sum_{n=0}^{\infty} \sum_{p=0}^{n} B(p,n) = \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} B(p,n+p).$$

Dwivedi and Sahai [5] defined the generalized hypergeometric matrix function as,

$${}_{p}F_{q}\left[\begin{matrix} M_{1}, M_{2}, ..., M_{p} \\ N_{1}, N_{2}, ..., N_{q} \end{matrix}; x\right]$$

$$= \sum_{n \ge 0} \frac{(M_{1})_{n} (M_{2})_{n} ... (M_{p})_{n} [(N_{1})_{n}]^{-1} [(N_{2})_{n}]^{-1} ... [(N_{q})_{n}]^{-1} x^{n}}{n!}, |x| < 1,$$
(7)

where $M_i, N_j \in \mathbf{C}^{r \times r}$, $1 \le i \le p$, $1 \le j \le q$, $p, q \in \mathbf{N}$ and $N_j + kI$ are invertible for all $k \in \mathbf{Z}^+ \cup \{\mathbf{0}\}$.

Theorem 1.2. (Dwivedi and Sahai [5]) Let $M_1, M_2, ..., M_p$ and $N_1, N_2, ..., N_q$ be positive stable matrices in $\mathbb{C}^{r \times r}$ and $p \le q + 1$. Then the series (1) is absolutely convergent for |x| = 1 if

$$\beta(N_1) + \beta(N_2) + \dots + \beta(N_q) > \alpha(M_1) + \alpha(M_2) + \dots + \alpha(M_p). \tag{8}$$

The Riemann-Liouville fractional integral and derivative operator are defined (see Samko et al. [22]) as,

$$I_a^{\mu}(f)(x) = \frac{1}{\mu} \int_a^x (x - t)^{\mu - 1} f(t) dt, \quad (\mu \in \mathbf{C}, \ \Re(\mu) > 0)$$
 (9)

and

$$\left(D_a^{\mu}f\right)(x) = \left(\frac{d}{dx}\right)^m \left(I_a^{m-\mu}f\right)(x). \tag{10}$$

Definition 1.3. (Bakhet et al. [1]) Let $M \in \mathbb{C}^{r \times r}$ be a positive stable matrix and $\mu \in \mathbb{C}$ with $\Re(\mu) > 0$. Then the Riemann-Liouville fractional integral of order μ is:

$$I^{\mu}(x^{M}) = \frac{1}{\Gamma(\mu)} \int_{0}^{x} (x - t)^{\mu - 1} t^{M} dt.$$
 (11)

Lemma 1.4. (Bakhet et al. [1]) Let $M \in \mathbb{C}^{r \times r}$ be a positive stable matrix and $\mu \in \mathbb{C}$ with $\Re(\mu) > 0$. Then the Riemann-Liouville fractional integral of order μ is:

$$I^{\mu}(x^{M-I}) = \Gamma(M)\Gamma^{-1}(M+\mu I)x^{M+(\mu-1)I}.$$
(12)

In 1994, Jódar et al. [6] introduced the Laguerre matrix polynomial and defined as,

$$L_n^{(A,\lambda)}(x) = \sum_{k=0}^n \frac{(-1)^k \lambda^k}{k!(n-k)!} (A+I)_n [(A+I)_k]^{-1} x^k,$$
(13)

where λ is a complex number with $\Re(\lambda) > 0$ and A is a matrix in $\mathbf{C}^{r\times r}$ with A + nI invertible for all $n \ge 1$. Shehata [20] obtained the connections between Legendre with Hermite and Laguerre matrix polynomials. In sequel to study, we give the extension of Laguerre matrix polynomial $L_n^{(A,\lambda)}(x)$ and discuss some properties.

2. Matrix polynomials $L_n^{(M,\delta,\lambda)}(x)$

Definition 2.1. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition

$$\Re(\rho) > -1, \quad \forall \rho \in \sigma(M)$$
 (14)

and $\delta \in \mathbb{Z}^+$, $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$. Then the matrix polynomials $L_n^{(M,\delta,\lambda)}(x)$ define as:

$$L_n^{(M,\delta,\lambda)}(x) = \frac{\Gamma(M + (\delta n + 1)I)}{n!} \sum_{p=0}^n \frac{(-nI)_p \lambda^p x^p}{p!} \Gamma^{-1}(M + (\delta p + 1)I).$$
 (15)

Remark 2.2. If we set $\delta = 1$, this reduces to the Laguerre matrix polynomial $L_n^{(M,\lambda)}(x)$ (Jódar et al. [6]).

2.1. Hypergeometric representation

On using (7), we can represent (15) in terms of the hypergeometric matrix function as,

$$L_n^{(M,\delta,\lambda)}(x) = \frac{(M+I)_{\delta n}}{n!} \, {}_1F_\delta \begin{bmatrix} -nI \\ \Delta(\delta;M+I) \end{bmatrix}; \, \frac{\lambda x}{\delta^\delta}, \tag{16}$$

where $\Delta(\delta; M + I)$ is the array of δ parameters:

$$\left(\frac{M+I}{\delta}\right), \left(\frac{M+2I}{\delta}\right), \left(\frac{M+3I}{\delta}\right), ..., \left(\frac{M+\delta I}{\delta}\right).$$

Remark 2.3. *If we set* $\delta = 1$ *, this yields the corresponding known result of Shehata* [16]*,*

$$L_n^{M,\lambda}(x) = \frac{(M+I)_n}{n!} \, {}_1F_1 \begin{bmatrix} -nI \\ M+I \end{bmatrix}; \, \lambda x$$
 (17)

3. Generating matrix functions

In this section, we establish generating matrix relations of matrix polynomials (15).

Theorem 3.1. Let M and N be commuting matrices in $\mathbb{C}^{r\times r}$ satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$, $|\omega| < 1$ and $|\frac{-\omega \lambda x}{(1-\omega)\delta^{\delta}}| < 1$. Then the following generating matrix relation holds:

$$\sum_{n=0}^{\infty} (N)_n \left[(M+I)_{\delta n} \right]^{-1} L_n^{(M,\delta,\lambda)}(x) \omega^n = (1-\omega)^{-N} {}_1 F_{\delta} \left[\begin{matrix} N \\ \Delta(\delta; M+I) \end{matrix} ; \frac{-\omega \lambda x}{(1-\omega)\delta^{\delta}} \right].$$
 (18)

Proof. The left hand side of (18), gives

$$\sum_{n=0}^{\infty} (N)_n \left[(M+I)_{\delta n} \right]^{-1} L_n^{(M,\delta,\lambda)}(x) \omega^n = \sum_{n=0}^{\infty} \sum_{p=0}^n \frac{(-1)^p \lambda^p x^p}{(n-p)! p!} (N)_n \left[(M+I)_{\delta p} \right]^{-1} \omega^n.$$

On applying the Lemma 1.1, we get

$$\begin{split} \sum_{n=0}^{\infty} (N)_{n} \left[(M+I)_{\delta n} \right]^{-1} L_{n}^{(M,\delta,\lambda)}(x) \omega^{n} &= \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} \frac{\lambda^{p} (-x)^{p}}{n! p!} (N)_{n+p} \left[(M+I)_{\delta p} \right]^{-1} \omega^{n+p} \\ &= \sum_{p=0}^{\infty} \frac{(-\omega \lambda x)^{p}}{p!} \left[(M+I)_{\delta p} \right]^{-1} \sum_{n=0}^{\infty} \frac{(N+p)_{n} \omega^{n}}{n!} \\ &= (1-\omega)^{-N} \sum_{p=0}^{\infty} \frac{\left(\frac{-\omega \lambda x}{(1-\omega)\delta^{\delta}} \right)^{p} (N)_{p}}{p!} \prod_{m=1}^{\delta} \left[\left(\frac{M+mI}{\delta} \right)_{p} \right]^{-1}, \end{split}$$

on applying (7), this immediately completes the proof of result (18). \Box

On plugging $\delta = 1$ in (18), this deduces to the following corollary.

Corollary 3.2. Let M and N be commuting matrices in $\mathbb{C}^{r\times r}$ satisfying the spectral condition (14) and $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$, $|\omega| < 1$ and $|\frac{-\omega \lambda x}{(1-\omega)}| < 1$. Then the following generating matrix relation holds:

$$\sum_{n=0}^{\infty} (N)_n \left[(M+I)_n \right]^{-1} L_n^{(M,\lambda)}(x) \omega^n = (1-\omega)^{-N} {}_1 F_1 \left[\begin{matrix} N \\ M+I \end{matrix} ; \frac{-\omega \lambda x}{(1-\omega)} \right].$$
 (19)

Theorem 3.3. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$ and $|\frac{-\omega \lambda x}{\delta^{\delta}}| < 1$. Then the following generating matrix relation holds:

$$\sum_{n=0}^{\infty} \left[(M+I)_{\delta n} \right]^{-1} L_n^{(M,\delta,\lambda)}(x) \omega^n = e^{\omega} {}_0 F_{\delta} \begin{bmatrix} - & -\omega \lambda x \\ \Delta(\delta; M+I) & ; \frac{-\omega \lambda x}{\delta^{\delta}} \end{bmatrix}.$$
 (20)

Proof. Consider the left hand side of (20),

$$\sum_{n=0}^{\infty} \left[(M+I)_{\delta n} \right]^{-1} L_n^{(M,\delta,\lambda)}(x) \omega^n = \sum_{n=0}^{\infty} \sum_{n=0}^{n} \frac{(-1)^p \lambda^p x^p}{(n-p)! p!} \left[(M+I)_{\delta p} \right]^{-1} \omega^n,$$

on applying the Lemma 1.1, we get

$$\sum_{n=0}^{\infty} \left[(M+I)_{\delta n} \right]^{-1} L_n^{(M,\delta,\lambda)}(x) \omega^n = \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} \frac{\lambda^p (-x)^p}{n! p!} \left[(M+I)_{\delta p} \right]^{-1} \omega^{n+p}$$

$$= \sum_{n=0}^{\infty} \frac{\omega^n}{n!} \sum_{p=0}^{\infty} \frac{(-\omega \lambda x)^p}{p!} \left[(M+I)_{\delta p} \right]^{-1}$$

$$= e^{\omega} \sum_{p=0}^{\infty} \frac{\left(\frac{-\omega \lambda x}{\delta^{\delta}}\right)^p}{p!} \prod_{m=1}^{\delta} \left[\left(\frac{M+mI}{\delta}\right)_p \right]^{-1},$$

on applying (8), this yields the result (20). \Box

Remark 3.4. If we set $\delta = 1$ in (20), yields the corresponding known result of Jódar and Sastre [12],

$$\sum_{n=0}^{\infty} \left[(M+I)_n \right]^{-1} L_n^{(M,\lambda)}(x) \omega^n = e^{\omega} {}_0 F_1 \begin{bmatrix} - \\ M+I \end{bmatrix}; -\omega \lambda x.$$
 (21)

Corollary 3.5. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$ and $|\frac{-\omega \lambda x}{\delta^{\delta}}| < 1$. Then the following generating matrix relation holds:

$$\sum_{n=0}^{\infty} \Gamma^{-1}(M + (\delta n + 1)I)L_n^{(M,\delta,\lambda)}(x)\omega^n = \Gamma^{-1}(M+I)e^{\omega} {}_0F_{\delta} \begin{bmatrix} - \\ \Delta(\delta;M+I) \end{bmatrix}; \frac{-\omega\lambda x}{\delta^{\delta}}.$$
 (22)

From the Theorem 3.3, one can obtain the following assertion.

Corollary 3.6. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\delta, p \in \mathbb{Z}^+$, $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$. Then the following explicit formula holds:

$$x^{p}I = \sum_{n=0}^{p} \frac{\lambda^{-p} p! \left[(M+I)_{\delta n} \right]^{-1} (M+I)_{\delta p} L_{n}^{(M,\delta,\lambda)}(x)}{(p-n)!}.$$
 (23)

Remark 3.7. *If we set* $\delta = 1$ *in* (23), *yields the corresponding known result of Jódar and Sastre* [12],

$$x^{p}I = \sum_{n=0}^{p} \frac{\lambda^{-p} p! \left[(M+I)_{n} \right]^{-1} (M+I)_{p} L_{n}^{(M,\lambda)}(x)}{(p-n)!}.$$
 (24)

Theorem 3.8. Let M and N be commuting matrices in $\mathbb{C}^{r\times r}$ satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$ and $|\omega \delta^{\delta}| < 1$. Then the following generating matrix relation holds:

$$\sum_{n=0}^{\infty} \Gamma(N + \delta n I) \Gamma^{-1}(M + (\delta n + 1)I) L_n^{(M,\delta,\lambda)}(x) \omega^n$$

$$= \sum_{n=0}^{\infty} \frac{(-\omega \lambda x)^p (N)_{\delta p}}{p!} \Gamma^{-1}(M + (\delta p + 1)I) \Gamma(N)_{\delta} F_0 \begin{bmatrix} \Delta(\delta; N + \delta p I) \\ - \end{bmatrix}; \ \omega \delta^{\delta}$$
(25)

Proof. The left hand side of (25), gives

$$\begin{split} &\sum_{n=0}^{\infty} \Gamma(N+\delta nI)\Gamma^{-1}(M+(\delta n+1)I)L_n^{(M,\delta,\lambda)}(x)\omega^n \\ &=\sum_{n=0}^{\infty} \sum_{p=0}^{n} \frac{(-\lambda x)^p}{(n-p)!p!}\Gamma^{-1}(M+(\delta p+1)I)\Gamma(N+\delta nI)\omega^n, \end{split}$$

on applying the Lemma 1.1, we obtain

$$\begin{split} &\sum_{n=0}^{\infty} \Gamma(N+\delta nI)\Gamma^{-1}(M+(\delta n+1)I)L_{n}^{(M,\delta,\lambda)}(x)\omega^{n} \\ &= \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} \frac{(-\omega\lambda x)^{p}}{n!p!}\Gamma^{-1}(M+(\delta p+1)I)\Gamma(N+\delta nI+\delta pI)\omega^{n} \\ &= \sum_{p=0}^{\infty} \frac{(-\omega\lambda x)^{p}(N)_{\delta p}}{p!}\Gamma^{-1}(M+(\delta p+1)I)\Gamma(N)\sum_{n=0}^{\infty} \frac{(\omega\delta^{\delta})^{n}}{n!}\prod_{m=1}^{\delta} \left(\frac{N+(\delta p+m-1)I}{\delta}\right)_{n}, \end{split}$$

this immediately leads to (25). \Box

On setting $\delta = 1$ in (25), this yields the following assertion.

Corollary 3.9. Let M and N be commuting matrices in $\mathbb{C}^{r \times r}$ satisfying the spectral condition (14) and $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$ and $|\omega| < 1$. Then the following generating matrix relation holds:

$$\sum_{n=0}^{\infty} \Gamma(N+nI)\Gamma^{-1}(M+(n+1)I)L_{n}^{(M,\lambda)}(x)\omega^{n}$$

$$=\sum_{p=0}^{\infty} \frac{(-\omega\lambda x)^{p}(N)_{p}}{p!}\Gamma^{-1}(M+(p+1)I)\Gamma(N)_{1}F_{0}\begin{bmatrix} N+pI\\ - \end{bmatrix}; \omega$$
(26)

On taking N = M + I in (25), this deduces to the following assertion.

Corollary 3.10. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$ and $|\omega \delta^{\delta}| < 1$. Then the following generating matrix relation holds:

$$\sum_{n=0}^{\infty} L_n^{(M,\delta,\lambda)}(x)\omega^n = \sum_{p=0}^{\infty} \frac{(-\omega\lambda x)^p}{p!} \,_{\delta}F_0 \begin{bmatrix} \Delta(\delta;M + (\delta p + 1)I) \\ - \end{bmatrix}; \, \omega\delta^{\delta}$$
(27)

On setting $\delta = 1$ in (27), this deduces to the following result.

Corollary 3.11. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$ and $|\omega| < 1$. Then the following generating matrix relation holds:

$$\sum_{n=0}^{\infty} L_n^{(M,\lambda)}(x)\omega^n = \sum_{p=0}^{\infty} \frac{(-\omega\lambda x)^p}{p!} \, {}_1F_0 \begin{bmatrix} M + (p+1)I) \\ - \end{bmatrix}; \; \omega$$
 (28)

Theorem 3.12. Let M and N be commuting matrices in $\mathbb{C}^{r \times r}$ satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$, and $|\frac{\omega(-\delta)^{\delta}}{1+\omega\lambda x}| < 1$. Then the following generating matrix relation holds:

$$\sum_{n=0}^{\infty} (N)_n L_n^{(M-\delta nI,\delta,\lambda)}(x) \omega^n = (1+\omega\lambda x)^{-N} {}_{\delta+1} F_0 \begin{bmatrix} N,\Delta(\delta;-M) \\ - \end{bmatrix}; \frac{\omega(-\delta)^{\delta}}{1+\omega\lambda x} \end{bmatrix}.$$
 (29)

Proof. From the left hand side of (29) and using the Lemma 1.1, we obtain

$$\begin{split} &\sum_{n=0}^{\infty} (N)_n L_n^{(M-\delta nI,\delta,\lambda)}(x) \omega^n \\ &= \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} (N)_{n+p} (M+(1-\delta n-\delta p)I)_{\delta n+\delta p} \left[(M+(1-\delta n-\delta p)I)_{\delta p} \right]^{-1} \frac{(-\lambda x)^p \omega^{n+p}}{n!p!} \\ &= \sum_{n=0}^{\infty} (N)_n (M+(1-\delta n)I)_{\delta n} (1+\omega \lambda x)^{-(N+nI)} \frac{\omega^n}{n!} \\ &= (1+\omega \lambda x)^{-N} \sum_{n=0}^{\infty} \frac{(N)_n \left(\frac{(-\delta)^\delta \omega}{1+\omega \lambda x} \right)^n}{n!} \prod_{m=1}^{\delta} \left(\frac{(m-1)I-M}{\delta} \right)_n, \end{split}$$

this immediately leads to (29). \Box

Theorem 3.13. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$ and $|\omega(-\delta)^{\delta}| < 1$. Then the following generating matrix relation holds:

$$\sum_{n=0}^{\infty} L_n^{(M-\delta nI,\delta,\lambda)}(x)\omega^n = e^{-\omega\lambda x} {}_{\delta}F_0 \begin{bmatrix} \Delta(\delta;-M) \\ - \end{bmatrix}; \ \omega(-\delta)^{\delta} \end{bmatrix}. \tag{30}$$

Proof. From the left hand side of (30) and using the Lemma 1.1, we obtain

$$\begin{split} &\sum_{n=0}^{\infty} L_n^{(M-\delta nI,\delta,\lambda)}(x)\omega^n \\ &= \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} (M + (1-\delta n - \delta p)I)_{\delta n + \delta p} \left[(M + (1-\delta n - \delta p)I)_{\delta p} \right]^{-1} \frac{(-\lambda x)^p \omega^{n+p}}{n! p!} \\ &= e^{-\omega \lambda x} \sum_{n=0}^{\infty} \frac{((-\delta)^{\delta} \omega)^n}{n!} \prod_{m=1}^{\delta} \left(\frac{(m-1)I - M}{\delta} \right)_n, \end{split}$$

on applying (7), this yields the result (30).

Considering the double series

$$\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \binom{n+m}{m} \Gamma^{-1}(M+(\delta(n+m)+1)I)L_{n+m}^{(M,\delta,\lambda)}(x)\omega^{m}\sigma^{n}$$

$$= \sum_{n=0}^{\infty} \sum_{m=0}^{n} \binom{n}{m} \Gamma^{-1}(M+(\delta n+1)I)L_{n}^{(M,\delta,\lambda)}(x)\omega^{m}\sigma^{n-m}$$

$$= \sum_{n=0}^{\infty} \Gamma^{-1}(M+(\delta n+1)I)L_{n}^{(M,\delta,\lambda)}(x)(\omega+\sigma)^{n},$$

on using the Corollary 3.5, we get

$$\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \binom{n+m}{m} \Gamma^{-1}(M+(\delta(n+m)+1)I) L_{n+m}^{(M,\delta,\lambda)}(x) \omega^m \sigma^n$$

$$= \Gamma^{-1}(M+I) e^{\omega+\sigma} {}_0F_{\delta} \begin{bmatrix} - & -(\omega+\sigma)\lambda x \\ \Delta(\delta;M+I) & ; \frac{-(\omega+\sigma)\lambda x}{\delta^{\delta}} \end{bmatrix}. \tag{31}$$

This represents double series generating matrix relation for matrix polynomials (15).

On taking $\delta = 1$ in (31), we get double series generating matrix relation for Laguerre matrix polynomial (13),

$$\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \binom{n+m}{m} \Gamma^{-1}(M+((n+m)+1)I)L_{n+m}^{(M,\lambda)}(x)\omega^{m}\sigma^{n}$$

$$= \Gamma^{-1}(M+I)e^{\omega+\sigma} {}_{0}F_{1} \begin{bmatrix} -\\ M+I \end{bmatrix}; -(\omega+\sigma)\lambda x$$
(32)

4. Integral representations

In this segment, we give the integral representations for matrix polynomials (15) in the form of following theorems.

Theorem 4.1. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$. Then

$$L_n^{(M,\delta,\lambda)}(x) = \frac{\Gamma(M + (\delta n + 1)I)}{n! \, 2\pi i} \int_C (u^\delta - \lambda x)^n e^u u^{-M - (\delta n + 1)I} du,\tag{33}$$

where C is the path around the origin in the positive direction, beginning at and returning to positive infinity with respect for the branch cut along the positive real axis.

Proof. The right hand side of (33), gives

$$\frac{\Gamma(M + (\delta n + 1)I)}{n! \, 2\pi i} \int_{C} (u^{\delta} - \lambda x)^{n} e^{u} u^{-M - (\delta n + 1)I} du$$

$$= \frac{\Gamma(M + (\delta n + 1)I)}{n! \, 2\pi i} \sum_{n=0}^{n} \frac{(-nI)_{p} \lambda^{p} x^{p}}{p} \int_{C} e^{u} u^{-M - (\delta p + 1)I} du. \tag{34}$$

Using the contour integral representation for the reciprocal Gamma function (6), we get the following integral matrix functional

$$\Gamma^{-1}(M + (\delta p + 1)I) = \frac{1}{2\pi i} \int_{C} e^{t} t^{-M - (\delta p + 1)I} dt.$$
(35)

On using (34) and (35), one can easily prove the Theorem 4.1. \Box

On plugging $\delta = 1$ in (33), this yields the following corollary.

Corollary 4.2. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$. Then

$$L_n^{(M,\lambda)}(x) = \frac{\Gamma(M + (n+1)I)}{n! \, 2\pi i} \int_C (u - \lambda x)^n e^u u^{-M - (n+1)I} du,\tag{36}$$

where C is the path around the origin in the positive direction, beginning at and returning to positive infinity with respect for the branch cut along the positive real axis.

Theorem 4.3. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$ and $|\frac{\lambda}{s \cdot \lambda}| < 1$. Then

$$\int_{0}^{\infty} x^{M} e^{-x} L_{n}^{(M,\delta,\lambda)}(x) dx = \frac{\Gamma(M + (\delta n + 1)I)}{n!} {}_{2}F_{\delta} \begin{bmatrix} -nI, M + I \\ \Delta(\delta; M + I) \end{bmatrix}; \frac{\lambda}{\delta^{\delta}}$$
(37)

Proof. From the left hand side of (37), we find

$$\begin{split} &\int_{0}^{\infty} x^{M} e^{-x} L_{n}^{(M,\delta,\lambda)}(x) dx \\ &= \frac{\Gamma(M + (\delta n + 1)I)\Gamma^{-1}(M + I)}{n!} \sum_{p=0}^{n} \frac{(-nI)_{p} \lambda^{p}}{p! \delta^{\delta p}} \prod_{m=1}^{\delta} \left[\left(\frac{M + pI}{\delta} \right)_{n} \right]^{-1} \int_{0}^{\infty} x^{M+pI} e^{-x} dx \\ &= \frac{\Gamma(M + (\delta n + 1)I)}{n!} \sum_{p=0}^{n} \frac{(-nI)_{p} \lambda^{p} (M + I)_{p}}{p! \delta^{\delta p}} \prod_{m=1}^{\delta} \left[\left(\frac{M + pI}{\delta} \right)_{n} \right]^{-1} \\ &= \frac{\Gamma(M + (\delta n + 1)I)}{n!} {}_{2}F_{\delta} \left[\frac{-nI}{\delta} M + I \right] \quad ; \quad \frac{\lambda}{\delta^{\delta}} \right], \end{split}$$

which completes the proof of result (37). \Box

Theorem 4.4. Let M and N be commuting matrices in $\mathbb{C}^{r\times r}$ satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$. Then

$$L_n^{(M+N,\delta,\lambda)}(x) = \Gamma^{-1}(N)\Gamma(M+N+(\delta n+1)I)\Gamma^{-1}(M+(\delta n+1)I)\int_0^1 u^M(1-u)^{N-I}L_n^{(M,\delta,\lambda)}(xu^\delta)du. \tag{38}$$

Proof. Let

$$\Psi = \int_{0}^{1} u^{M} (1 - u)^{N-I} L_{n}^{(M,\delta,\lambda)}(xu^{\delta}) du$$

$$= \frac{\Gamma(M + (\delta n + 1)I)}{n!} \sum_{p=0}^{n} \frac{(-nI)_{p} \lambda^{p} x^{p}}{p!} \Gamma^{-1} (M + \delta nI + I) \int_{0}^{1} u^{M + \delta pI} (1 - u)^{N-I} du.$$
(39)

On using equation (3) and (4), we obtain

$$\Psi = \frac{\Gamma(N)\Gamma(M + (\delta n + 1)I)}{n!} \sum_{p=0}^{n} \frac{(-nI)_{p}\lambda^{p}x^{p}}{p!} \Gamma^{-1}(M + N + (\delta p + 1)I)$$

$$= \Gamma(N)\Gamma(M + (\delta n + 1)I))\Gamma^{-1}(M + N + (\delta n + 1)I)L_{n}^{(M+N,\delta,\lambda)}(x). \tag{40}$$

On using (40) in right hand side of (38), this yields the desired result. \Box

On taking $\delta = 1$ in (38), one gets the following corollary.

Corollary 4.5. Let M and N be commuting matrices in $\mathbb{C}^{r \times r}$ satisfying the spectral condition (14) and $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$. Then

$$L_n^{(M+N,\lambda)}(x) = \Gamma^{-1}(N)\Gamma(M+N+(n+1)I)\Gamma^{-1}(M+(n+1)I)\int_0^1 u^M(1-u)^{N-I}L_n^{(M,\lambda)}(xu)du. \tag{41}$$

Theorem 4.6. Let M and N be commuting matrices in $\mathbb{C}^{r \times r}$ satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda, \mu \in \mathbb{C}$ with $\Re(\lambda) > 0$, $\Re(\mu) > 0$. Then

$$\int_0^\mu (\mu - x)^{N-I} x^M L_n^{(M,\delta,\lambda)}(x^\delta) dx = \mu^{M+N} \Gamma(N) \Gamma(M+I+\delta nI) \Gamma^{-1}(M+N+I+\delta nI) L_n^{(M+N,\delta,\lambda)}(\mu^\delta). \tag{42}$$

Proof. Consider the left hand side of (42),

$$\begin{split} & \int_0^\mu (\mu - x)^{N-I} x^M L_n^{(M,\delta,\lambda)}(x^\delta) dx \\ & = \frac{\Gamma(M + (\delta n + 1)I)}{n!} \sum_{n=0}^n \frac{(-nI)_p \lambda^p}{p!} \Gamma^{-1}(M + (\delta p + 1)I) \int_0^\mu (\mu - x)^{N-I} x^{M + \delta p} dx, \end{split}$$

on plugging $\mu - x = \mu(1 - t)$, we get

$$\begin{split} & \int_0^\mu (\mu - x)^{N-I} x^M L_n^{(M,\delta,\lambda)}(x^\delta) dx \\ & = \frac{\mu^{M+N} \Gamma(M + (\delta n + 1)I)}{n!} \sum_{p=0}^n \frac{(-nI)_p \lambda^p \mu^{\delta p}}{p!} \Gamma^{-1}(M + (\delta p + 1)I) \int_0^1 (1 - t)^{N-I} t^{M+\delta pI} dt, \end{split}$$

on applying (4), this leads to the proof of the Theorem 4.6. \Box

On setting $\delta = 1$ in (42), this deduces the following result.

Corollary 4.7. *Let* M *and* N *be commuting matrices in* $\mathbb{C}^{r \times r}$ *satisfying the spectral condition* (14) *and* λ , $\mu \in \mathbb{C}$ *with* $\Re(\lambda) > 0$, $\Re(\mu) > 0$. Then

$$\int_{0}^{\mu} (\mu - x)^{N-I} x^{M} L_{n}^{(M,\lambda)}(x) dx = \mu^{M+N} \Gamma(N) \Gamma(M+I+nI) \Gamma^{-1}(M+N+(n+1)I) L_{n}^{(M+N,\lambda)}(\mu). \tag{43}$$

Theorem 4.8. Let M and N be commuting matrices in $C^{r\times r}$ and M, N and M – N are positive stable matrices. Then

$$L_n^{(M,\delta,\lambda)}(x^{\delta}) = x^{-M}\Gamma(M + (\delta n + 1)I)\Gamma^{-1}(N + (\delta n + 1)I)\Gamma^{-1}(M - N)\int_0^x (x - \mu)^{M-N-I}\mu^N L_n^{(N,\delta,\lambda)}(\mu^{\delta})d\mu, \tag{44}$$

where $\lambda, \mu \in \mathbb{C}$, $\delta \in \mathbb{Z}^+$ with $\Re(\lambda) > 0$, $\Re(\mu) > 0$.

Proof. By making substitution $x - \mu = x(1 - t)$ in right hand side of (44) and using Beta matrix function (4), one can easily prove the Theorem 4.8. \square

On setting $\delta = 1$ in (44), this deduce the following result.

Corollary 4.9. Let M and N be commuting matrices in $\mathbb{C}^{r\times r}$ and M, N and M – N are positive stable matrices. Then

$$L_n^{(M,\lambda)}(x) = x^{-M} \Gamma(M + (n+1)I) \Gamma^{-1}(N + (n+1)I) \Gamma^{-1}(M - N) \int_0^x (x - \mu)^{M-N-I} \mu^N L_n^{(N,\lambda)}(\mu) d\mu, \tag{45}$$

where $\lambda, \mu \in \mathbb{C}$ with $\Re(\lambda) > 0$, $\Re(\mu) > 0$.

5. Recurrence relations, summation formulas and series relation

In this section, we derive the following differential recurrence relations, finite summation formulas and series relation of the matrix polynomials (15).

Theorem 5.1. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$. Then the following differential recurrence relations hold:

$$\frac{d}{dx}\left(x^{M}L_{n}^{(M,\delta,\lambda)}(x^{\delta})\right) = x^{(M-I)}(M+\delta nI)L_{n}^{(M-I,\delta,\lambda)}(x^{\delta}) \tag{46}$$

$$\left(\frac{d}{dx}\right)^{m} \left[x^{M} L_{n}^{(M,\delta,\lambda)}(\omega x^{\delta})\right] = x^{M-mI} \Gamma(M + (\delta n + 1)I) \Gamma^{-1}(M + (\delta n - m + 1)I) L_{n}^{(M-mI,\delta,\lambda)}(\omega x^{\delta})$$
(47)

$$ML_n^{(M,\delta,\lambda)}(x) + x\delta \frac{d}{dx} L_n^{(M,\delta,\lambda)}(x) = (M + \delta nI) L_n^{(M-I,\delta,\lambda)}(x). \tag{48}$$

Proof. The left hand side of (46), gives

$$\begin{split} &\frac{d}{dx}\left(x^{M}L_{n}^{(M,\delta,\lambda)}(x^{\delta})\right)\\ &=x^{(M-I)}\frac{\Gamma(M+(\delta n+1)I)}{n!}\sum_{p=0}^{n}\frac{(-nI)_{p}\lambda^{p}(M+\delta pI)x^{\delta p}}{p!}\Gamma^{-1}(M+(\delta p+1)I)\\ &=x^{(M-I)}(M+\delta nI)\frac{(M)_{\delta n}}{n!}\sum_{p=0}^{n}\frac{(-nI)_{p}\lambda^{p}x^{\delta p}}{p!}\left[(M)_{\delta p}\right]^{-1}, \end{split}$$

this immediately leads to the proof of the first relation (46). Similarly, one can easily prove the relation (47) and (48) . \Box

Theorem 5.2. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, λ , $\mu \in \mathbb{C}$ with $\Re(\mu) > 0$, $\Re(\lambda) > 0$ and k is a non negative integer. Then the following summation formulas hold:

$$\sum_{m=0}^{k} \frac{\binom{k}{m} x^m}{(M+I-kI)_m} D_x^m L_n^{(M,\delta,\lambda)}(x^{\delta}) = \frac{(M+I)_{\delta n}}{(M+I-kI)_{\delta n}} L_n^{(M-kI,\delta,\lambda)}(x^{\delta})$$

$$\tag{49}$$

$$\sum_{m=0}^{k} \frac{(\mu)^m}{m!} D_x^m L_n^{(M,\delta,\lambda)}(x) = L_n^{(M,\delta,\lambda)}(x+\mu).$$
 (50)

Proof. From the left hand side of (49), we get

$$\begin{split} & \sum_{m=0}^{k} \frac{\binom{k}{m} x^{m}}{(M+I-kI)_{m}} D_{x}^{m} L_{n}^{(M,\delta,\lambda)}(x^{\delta}) \\ & = \frac{(M+I)_{\delta n}}{n!} \sum_{m=0}^{k} \frac{(-kI)_{m}}{m!(M+I-kI)_{m}} \sum_{p=0}^{n} \frac{(-nI)_{p} \lambda^{p} (-\delta p)_{m} x^{\delta p}}{p!} \left[(M+I)_{\delta p} \right]^{-1} \\ & = \frac{(M+I)_{\delta n}}{n!} \sum_{p=0}^{n} \frac{(-nI)_{p} \lambda^{p} x^{\delta p}}{p!} \left[(M+I-kI)_{\delta p} \right]^{-1}, \end{split}$$

this immediately leads to the proof of the first result (49). Similarly, one can prove the result (50). \Box

Theorem 5.3. Let $M, P, Q \in \mathbf{C}^{r \times r}$ be matrices satisfying the spectral condition (14) and $\delta \in \mathbf{Z}^+$, $\lambda \in \mathbf{C}$ with $\Re(\lambda) > 0$ and $|\frac{-\omega \lambda x}{\delta^{\delta}}| < 1$. Then the following series relation holds:

$$\sum_{n=0}^{\infty} (P)_n \left[(Q+I)_n \right]^{-1} \Gamma^{-1} (M + (\delta n + 1)I) L_n^{(M,\delta,\lambda)}(x) \, {}_1F_1 \left[\begin{matrix} P+nI \\ Q+(n+1)I \end{matrix} ; -\omega \right] \omega^n$$

$$= {}_1F_{\delta+1} \left[\begin{matrix} P \\ Q+I, \Delta(\delta; M+I) \end{matrix} ; \frac{-\omega \lambda x}{\delta^{\delta}} \right]. \tag{51}$$

Proof. On using the Corollary 3.5, we get

$$\sum_{n=0}^{\infty} \Gamma^{-1}(M+(\delta n+1)I)L_n^{(M,\delta,\lambda)}(x)\omega^n e^{-\omega} = \Gamma^{-1}(M+I)\,_0F_{\delta}\begin{bmatrix} - & ; & -\omega\lambda x \\ \Delta(\delta;M+I) & ; & \overline{\delta^{\delta}} \end{bmatrix}.$$

Now multiplying both the side by ω^{P-I} and afterwards employing the operator D_{ω}^{P-Q-I} , where $D_{\omega} = \frac{d}{d\omega}$, we obtain

$$\begin{split} \sum_{n=0}^{\infty} \Gamma^{-1}(M + (\delta n + 1)I) L_n^{(M,\delta,\lambda)}(x) \sum_{r=0}^{\infty} \frac{(-\omega)^r}{r!} \Gamma(P + (n+r)I) \Gamma^{-1}(Q + (n+r+1)I) \omega^n \\ &= \Gamma^{-1}(M + I) \sum_{p=0}^{\infty} \frac{\left(\frac{-\lambda \omega x}{\delta^{\delta}}\right)^p}{p!} \Gamma(P + pI) \Gamma^{-1}(Q + (p+1)I) \prod_{m=1}^{\delta} \left[\left(\frac{M + mI}{\delta}\right)_p \right]^{-1}, \end{split}$$

this immediately leads to (51). \square

Corollary 5.4. Let $M, P, Q \in \mathbb{C}^{r \times r}$ be matrices satisfying the spectral condition (14) and $\lambda \in \mathbb{C}$ with $\Re(\lambda) > 0$ and $|-\omega \lambda x| < 1$. Then the following series relation holds:

$$\sum_{n=0}^{\infty} (P)_n \left[(Q+I)_n \right]^{-1} \Gamma^{-1} (M+(n+1)I) L_n^{(M,\lambda)}(x) {}_1F_1 \left[\begin{matrix} P+nI \\ Q+(n+1)I \end{matrix} ; -\omega \right] \omega^n$$

$$= {}_1F_2 \left[\begin{matrix} P \\ Q+I,M+I \end{matrix} ; -\omega \lambda x \right]. \tag{52}$$

6. Fractional integral and derivative operators

In this segment, we establish the composition of the Riemann-Liouville fractional integral and derivative operators with matrix polynomials (15).

Theorem 6.1. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda, \mu \in \mathbb{C}$ with $\Re(\mu) > 0$, $\Re(\lambda) > 0$. Then

$$\left(I^{\mu}\left[x^{M}L_{n}^{(M,\delta,\lambda)}(t^{\delta})\right]\right)(x) = x^{M+\mu I}\Gamma(M+(\delta n+1)I)\Gamma^{-1}(M+(\delta n+\mu+1)I) \times L_{n}^{(M+\mu I,\delta,\lambda)}(x^{\delta}).$$
(53)

Proof. Consider the left hand side of (53),

$$\begin{split} &\left(I^{\mu}\left[x^{M}L_{n}^{(M,\delta,\lambda)}(t^{\delta})\right]\right)(x)\\ &=\frac{1}{\Gamma(\mu)}\int_{0}^{x}(x-t)^{\mu-1}t^{M}L_{n}^{(M,\delta,\lambda)}(t^{\delta})dt\\ &=\frac{\Gamma(M+(\delta n+1)I)}{n!}\sum_{p=0}^{n}\frac{(-nI)_{p}\lambda^{p}}{p!}\Gamma^{-1}(M+(\delta p+1)I)\left(I^{\mu}t^{M+\delta pI}\right)(x)\\ &=\frac{x^{M+\mu I}\Gamma(M+(\delta n+1)I)}{n!}\sum_{p=0}^{n}\frac{(-nI)_{p}\lambda^{p}x^{\delta p}}{p!}\Gamma^{-1}(M+(\delta p+\mu+1)I), \end{split}$$

this yields the result (53). \Box

On setting $\delta = 1$ in (53), this deduces to the following corollary.

Corollary 6.2. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\lambda, \mu \in \mathbb{C}$ with $\Re(\mu) > 0$, $\Re(\lambda) > 0$. Then

$$\left(I^{\mu}\left[x^{M}L_{n}^{(M,\lambda)}(t)\right]\right)(x) = x^{M+\mu I}\Gamma(M+(n+1)I)\Gamma^{-1}(M+(n+\mu+1)I)L_{n}^{(M+\mu I,\lambda)}(x). \tag{54}$$

Theorem 6.3. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\delta \in \mathbb{Z}^+$, $\lambda, \mu, \omega \in \mathbb{C}$ with $\Re(\mu) > 0$, $\Re(\omega) > 0$, $\Re(\lambda) > 0$. Then

$$\left(D^{\mu}\left[u^{M}L_{n}^{(M,\delta,\lambda)}(\omega u^{\delta})\right]\right)(x) = x^{M-\mu I}\Gamma(M + (\delta n + 1)I)\Gamma^{-1}(M + (\delta n - \mu + 1)I)L_{n}^{(M-\mu I,\delta,\lambda)}(\omega x^{\delta}). \tag{55}$$

Proof. From the left hand side of (55), we get

$$\left(D^{\mu}\left[u^{M}L_{n}^{(M,\delta,\lambda)}(\omega u^{\delta})\right]\right)(x)=\left(\frac{d}{dx}\right)^{m}\left(I^{m-\mu}u^{M}L_{n}^{(M,\delta,\lambda)}(\omega u^{\delta})\right)(x),$$

on using equation (12), we find that

$$\begin{split} &\left(D^{\mu}\left[u^{M}L_{n}^{(M,\delta,\lambda)}(\omega u^{\delta})\right]\right)(x) \\ &=\left(\frac{d}{dx}\right)^{m}\left[\frac{1}{\Gamma(m-\mu)}\int_{0}^{x}(x-u)^{(m-\mu)-1}u^{M}L_{n}^{(M,\delta,\lambda)}(\omega u^{\delta})du\right] \\ &=\left(\frac{d}{dx}\right)^{m}\left[\frac{\Gamma(M+(\delta n+1)I)}{n!}\sum_{n=0}^{n}\frac{(-nI)_{p}\lambda^{p}\omega^{p}}{p!}\Gamma^{-1}(M+(\delta p+1)I)\left(I^{m-\mu}u^{M+\delta pI}\right)(x)\right], \end{split}$$

from Lemma 1.4 and equation (15), we find that

$$\begin{split} \left(D^{\mu}\left[u^{M}L_{n}^{(M,\delta,\lambda)}(\omega u^{\delta})\right]\right)(x) &= \Gamma(M+(\delta n+1)I)\Gamma^{-1}(M+(\delta n+m-\mu+1)I)\\ &\times \left(\frac{d}{dx}\right)^{m}\left[x^{M+(m-\mu)I}L_{n}^{(M+(m-\mu)I,\delta,\lambda)}(\omega x^{\delta})\right], \end{split}$$

use of (47), this yields (55). \square

On setting $\delta = 1$ in (55), this deduces to the following corollary.

Corollary 6.4. Let $M \in \mathbb{C}^{r \times r}$ be a matrix satisfying the spectral condition (14) and $\lambda, \mu, \omega \in \mathbb{C}$ with $\Re(\mu) > 0$, $\Re(\omega) > 0$, $\Re(\lambda) > 0$. Then

$$\left(D^{\mu}\left[u^{M}L_{n}^{(M,\lambda)}(\omega u)\right]\right)(x) = x^{M-\mu I}\Gamma(M+(n+1)I)\Gamma^{-1}(M+(n-\mu+1)I)
\times L_{n}^{(M-\mu I,\lambda)}(\omega x).$$
(56)

Concluding Remarks

In this paper, we discussed the extension of Laguerre matrix polynomials and various properties including the hypergeometric representation, generating matrix relations, integral representations, recurrence relations, summation formulas, series relation, fractional integral and derivative operators and several interesting special cases have been obtained. These results can play a significant role in the Combinatorial Problems, Wireless Communications and Signal Processing, Theory of Special Functions, Operator Theory, Matrix Analysis Theory, Mathematical Physics, Classical Analysis, Fractional Calculus and Statistics.

We can find orthogonality, Rodrigues formula, differential equation, q-analogues and properties using Lie theory approach to the matrix polynomials $L_n^{(M,\delta,\lambda)}(x)$.

Acknowledgement

- (i) The first author is thankful to Sardar Vallabhbhai National Institute of Technology, Surat, Gujarat, for providing financial support under the Full-time Institute Research (FIR) category.
- (ii) The authors thank the referee(s) for their valuable remarks and suggestions, which improved the paper.

References

- [1] A. Bakhet, Y. Jiao, F. He, On the Wright hypergeometric matrix functions and their fractional calculus, Integr. Transf. Spec. Funct., 30 (2019) 138-156.
- [2] B. Cekim, R. Dwivedi, V. Sahai, A. Shehata, Certain integral representations, transformation formulas and summation formulas Related to Humbert matrix functions, Bull. of the Brazilian Math. Soc., New Series, 52(2) (2021) 213-239.
- [3] N. Dunford, J. Schwartz, Linear operators, Part-I, General theory, Interscience Publishers, New York 1957.
- [4] E. Defez, L. Jódar, Some application of the Hermite matrix polynomials series expansions, J. Comp. Appl. Math., 99 (1998) 105-117.
- [5] R. Dwivedi, V. Sahai, On the hypergeometric matrix functions of two variables, Linear Multilinear Algebra, 66 (2018) 1819-1837.
- [6] L. Jódar, R. Company, E. Navarro, Laguerre matrix polynomials and system of second-order differential equations, Appl. Num. Math., 15 (1994) 53-63.
- [7] L. Jódar, R. Company, E. Navarro, Bessel matrix functions, explicit solution of coupled Bessel type equations, Utilitas Math., 46 (1994) 129-141.
- [8] L. Jódar, R. Company, Hermite matrix polynomials and second order matrix differential equations, J. Approx. Theory Appl., 12(2) (1996) 20-30.
- [9] L. Jódar, E. Defez, A connection between Laguerre's and Hermite's matrix polynomials, Appl. Math. Lett., 11(1) (1998) 13-17.
- [10] L. Jódar, J.C. Cortés, On the hypergeometric matrix function, J. Comp. Appl. Math., 99 (1998) 205-217.
- [11] L. Jódar, J.C. Cortés, Some properties of gamma and beta matrix function, Appl. Math. Lett., 11(1) (1998) 89-93.
- [12] L. Jódar, J. Sastre, On Laguerre matrix polynomials, Util. Math., 53(1998) 37-48.
- [13] N.N. Lebedev, Special Functions and Their Applications, Dover Publications Inc. New York 1972.
- [14] M.S. Metwally, M.T. Mohamed, A. Shehata, On Chebyshey matrix polynomials, matrix differential equations and their properties. Afr. Math., 26 (2015) 1037-1047.
- [15] E.D. Rainville, Special Functions, The Macmillan Company, New York 1960.
- [16] A. Shehata, Some relations on Laguerre matrix polynomials, Malays. J. Math. Sci., 9 (2015) 443-462.
- [17] A. Shehata, On Lommel matrix polynomials, Symmetry, 13(12) (2021) 233.
- [18] A. Shehata, Lommel matrix functions, Iranian J. of Math. Sci. and Informatics, 15(2) (2020) 61-79.
- [19] A. Shehata, Lie algebra and Laguerre matrix polynomials of one variable, General Lett. in Math., 4(1) (2018) 1-5.
- [20] A. Shehata, Connections between Legendre with Hermite and Laguerre matrix polynomials, Gazi University J. of Science, 28(2) (2015) 221-230.
- [21] A. Shehata, On modified Laguerre matrix polynomials, J. of Natural Sci. and Math., 8(2) (2015) 153-166.
- [22] S.G. Samko, A.A. Kilbas, O.I. Marichev, Fractional Integrals and Derivatives: Theory and Applications. Gordon and Breach, Yverdon 1993.
- [23] K.A.M. Sayyed, M.S. Metwally, R.S. Batahan, Gegenbauer matrix polynomials and second order matrix differential equations, Divulg. Mate., 12(2) (2004) 101-115.